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O" 	MASTER OF ARTS (SOCIOLOGY) 

Term-End Examination 

June, 2013 

MS0-003 : SOCIOLOGY OF 
DEVELOPMENT 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer any five questions in about 500 words each. 
Select at least two questions from each section. 

SECTION - A 

1. What do you understand by development? 
Explain briefly Marxian and Weberian 
understanding of development. 	 5+15=20 

2. Write a critique of 'Growth-Oriented' perspective 20 
of development. 

3. What do you mean by ethno-development? 
Discuss its relevance in India's developmental 
strategy. 	 5+15=20 

4. Elucidate the relationship between gender and 20 
development. 

5. How does liberalism address the issue of 
inequality? What are the limitations? 	10+10=20 

MSO-003 	 1 	 P.T.O. 



SECTION - B 

Answer in about 500 words each. 

6. Discuss the main features of globalization. How 

does it influence the developmental perspective 

of a nation? 	 10+10=20  

7. Explain the various measures initiated by the 20 

Indian state in the wake of globalization to 

eradicate poverty. What is their impact? 

8. How do the Information and communication 20 

technologies affect the economic functions of a 

society? Explain with suitable illustrations. 

9. Discuss the main features of Trade Related 20 

Intellectual Property Rights (TRIPs). How does it 

affect the interests of the developing countries? 

10. Critically examine the role of civil society in the 20 

developmental initiative of India. 
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